AP Physics – Electric (Strawberry) Fields (Forever) Test - Ans
1.  (20) If a pair of charges were moved twice as close together, how much larger would the force of attraction be between them?

2. (20) A rubber rod is vigorously rubbed with a piece of fur so that it gains a charge.  What happens to give it this charge?

3. (20) What is probably the most significant difference between the electromagnetic force and the gravitational force?

4. (20)  Find the force between charges of +150.0 (C and -125.0 (C.  They are 1.50 cm apart.   
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5. (20)  Draw in the lines of force between the two unlike charges shown below.
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6. (20) Three charges are arranged as shown.  What is the magnitude and direction of the force acting on q1 the 355 (C charge by the other two charges?
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7. (80) An electron is fired into at the midpoint of a field between two charged plates.  The initial velocity of the electron is 5.75 x 106 m/s.  The plates are a distance of 1.80 mm apart.  The (V for the plates is 120.0 V.  (a)  Draw in arrows showing the electric field between the plates. (b) On which of the two plates will the electron hit? Provide your reasoning for the answer you provide.  (c) What is the electric field between the plates?  (d) Determine the horizontal distance from the entrance to the plates that the electron will travel before it hits one of the plates.

(a) See Picture

(b) The upper plate

(c) 
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Acceleration:
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Horizontal distance:
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